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ABSTRACT

Effect of Reconstructed Math materials on Academic
achievement and Student Attitude

(Focusing on 'Character and Mode' unit in Vocational High School)

Sun-Hae Kim
Advisor : Prof. Soon-cheol Park, Ph.D.
Major in Mathematics Education

Graduate School of Education, Chosun University

The meaning of education lies in providing each student with education in the
most appropriate sort and level in consideration of diverse individual
difference in factors such as their interest, aptitude, ability and course.
Owing to the lack of basic scholastic ability, however, most of students in
vocational high school are deficient of interest in mathematics or learning
motive. They do not even understand why it is necessary to study
mathematics. Thus, as the problem of mathematical education in the
vocational high school, this dissertation focuses on the fact that textbook
same to that of common high school is applied to the vocational high school
without considering the level of students. For the purpose of study, I
investigated the attitude in the mathematical class and academic
accomplishment of vocational high school and examined the response of
students to reorganized text and their academic accomplishment after
applying reorganized text by organizing experimental class and comparative
class. As a result, it turned out that the attitude of students to mathematics
was rather positive and considerable effect was made in aspect of
improvement of academic accomplishment. Thus, so as to improve the
interest and confidence of students in vocational high school to the subject of
mathematics, 1 suggest enhancing the mathematical power by reorganizing
text meeting their level and demand that can supplement the deficient study
contents and give opportunity to fully study the rudimentary contents in the

level of high school.
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5) (a+b)*—2(a+b)+1

=SH 1)

(1 )x + 82+ 16
(3) 2 —81

(5) (z—y)' =7

[ eI20 34(2) ]
D a4+ =(a+b)a*—a
@a-bV=(@->b)a*+a

a —

(2) 42 — 4z +1
4) 2 —2x—38

b+b?)
b+b?)
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GlA 2)

(1) 2°+8 (2
<E0[>
1) 2 +8=a>+2=(z +

) 8% —27

2)(z*—x - 24+ 27)

(z+2)(a*—2x+4)

(2) 82°—27=(22)°—3*= (22 —3){(22)*+ 2z - 3+ 3%}
= (22 —3)4z*+6x+9)
2Hl 2) T2 TEAIZS 4256 5toict.
(1) z* + 274" (2) z* —64
@) (x+y)—2° (4) z* —8y*
[ olA=5l _T'_AI(3) ]
@ a®*+3a*b+3ab’* + > = (a +b)?
@ a®—3a’b+3ab> —b*=(a—b)?
Ol 3) THS CHEtAIZ QI=25l5H0iet.

1) 22 +32°+3x+1

(2) x* — 62y + 12xy° — 8y°

<E0I>
(1) 2’ +32" + 32+ 12 03 4 3520 14 30 - 124 17
=(z+1)
(2) 2*— 62’y + 120" — 8y’ =a* —3 -2 - 2+ 3 -2+ (2y)*— (2y)?
=(z—2y)°
2H 3) U8 UEas elx=Zaidtoiet

(1) 2*+92% + 272 + 27
(3) 272 + 9%y + 3z +9°

(2) 2* —122% + 48z — 64
(4) z3y® — 3a*y* + 3ay — 1
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